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A. List the different satellite orbits with

F. Explain navi
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Question No.l is compulsory, attempt
Figures to right indicate full marks
Assume suitable data wherever

Attempt any four of the following

B" Discuss the various ways of

C. What do you mean by

D. Explain the beam

E. Write a note on
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find an expression for the losses in case ofan

and multi hop in satellite connections.
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in space science.

, tracking and command system in satellite communications.
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Q.6 Attempt the follorving questions
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A. Describe how a satellite is launched in geostationary orbit. ;

B. Given that [C/I]u:26 dB and [C/I ]o:24 dB,
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